Linear Relations
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Healy is a dog trainer in Gimli. She charges $50 for a training kit

plus $30 for each session. What are some characteristics of this
relation?
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Independent Variable ()
= Variable whose values are freely chosen.

Dependent Variable (3)
= Variable whose value depends on the independent variable



Example 1

Clint bought a computer 4 yr ago. Clint estimates

that the relation between the age of the
computer in years, t, and its value in dollars,
v, is represented by v = —300t + 1200.
The relation is also represented by this
table of values and graph.

How does each representation show this is
a linear relation?

Solution
A. How do the values in the table change?

When the year goes _Y
by |, the value of the
computer goes _down

by $_300 .
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B. How does the graph show that this is a linear relation?

stapk-' Straight \ine
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C. Circle the description of the rate of change.

@t rate of c@

D. Can you have any part of a year? ﬂes

E. Is this data discrete or@ Explain.

Discrete = Data cannot be broken into smaller

parts that have meaning.

varying rate of change

Continuous = Data can be broken into smaller
parts that have meaning.



Example 2

Bonnie installs square ceramic tiles of different sizes. The relation
between a tile’s side length, s, and its area, A, is represented
by a table of values, an equation, and a graph. How does each
representation show this is a non-linear relation?
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A. How do the values of the dependent variable change in
the table?

Each time the length gets _®lager by |\ ,
the area gets ‘b'\ajer by a _dif€ecent amount.

B. How does the graph show that this is a non-linear relation?
NOY o sivalgh- \ihe

C. Circle the description of the rate of change.

constant rate of change @g rate of @
D. Is this data discrete o continuousZ¥Explain.

Points are connecied

Degree of an equation
When a linear relation is written as an equation, it will contain
one or two variables and its degree will be 1.

Li,near Relations: Non-Linear Relations:
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